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‘ D i C B A i Questlons 1" = Ul Ji'/
| {3} 1' {£3} {£9} {9} er FEx2-9=0] 1
' i The solution set of x2 g =g is:
Le-eee2ey e -0+ (A "
(x=2)% ‘D (x —2)(x +2)x—-4) | p |Factorizationof x4 —|g is: !
Sy | 7 S g J S 5 i
{g . | Skew : . |
|_ ‘-rquare matrix ." Transpose symmetric Symmetric |If Al= —A then A is called B _1:
i | i ;_.b:uizé.. 4 {
| Alspl | At B! | Al :
e eme - ol . PRI | ___|Inmaices (A+B) =7 ki S
i L shidsle & slile ijJL-‘/;; sl o P ) ! 5
i : m::;iwa[ Adjacent angle]  Unequal Equal Iftwo angles are supplemc thesame angle, they are: ; I
ntf L s Sty | r_t'l.lw'/ ;f,-(‘,“_.dl;;um{.'._.l»‘ ;
i s ! : . : A Iinejcinin atrmngle and perpendicular 1o 1t5l i
| Side blw..tor . Alitude Median Angle bisector opposi a -
I < A 2nr 3 Pﬂ a.':;u; ¥ < 'r'Jb.eb’u"ub! 7
i | with radius 'r'is: |
| SE e g O Vot i L.m..-hﬁf.difa.druﬂr" SBens [ 2 | 8 |
| Both positive | : - tin the Ist quadrant is characterized by the fact that ;
! and negative | Negalive Positive of its coordinates are: N —
i ] |
(a-bp E (@ +b)? ah_b\eb (a+b)(a2-ab+b?) =7 II 9
= ; Pix) [ |
| '[ QU PR _Gn Q20 2 ALz NS G 41| 10
U2 P PR ) ) o
i 5 . An algebraic expression of the form g t‘Uz{Jﬁul/Z/:( }
. Mixedsurd | Surd ot B
i i mmoer | g QX=0 P ang QX) are polynomials is called a: |
e NG 6 e T4 e |
: (a- + I}(a +1) D [a = 1)(32 +1) | B Faclori?.ation of 44 _| is: _1_
| . S |
: . . a ,ﬁ‘;blf;‘_‘a x-z JJ/M_ nzl _mb’lj’ P(X]‘ L?/-O" |
! |
i i | 1 8 Ot .J:-:....gJ P(2) Je L5 g1 |
| Remainder |Ifa polynomial P(x) of degree n 21 is divided by | |
lf polynomial 'x —a' where a is any constantthen P(@) is: ' |
i ) 2 '
24p3%2 | 12p2g? 24p¥q 24pq? - Siesnsg 1292 SP 13 .t
! - I i L.C.M. of 12p°g2 |, 8p? is: __-_
i T S =il il Ldﬂ{’:._.f..f L‘-..-"JJJ':...J.!L"JJ;’ Ja) 114 E
i = Any value of the variable which make the equation a true i
| Variable | Solution Inequation Equation  |gtatement is called: - - VR {
: & e |SHEMENE )5 Cal e RSO mre—
! 0 i +£3 -3 3 e e | % | I 15 |
' __L_ N The solution setof | x|=3 is: - ool
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Write short answers to any SIX parts. - ..:,Ui/‘!r..'l} fialjf
]fPl:){}=21'3+2!2+X‘—|I,lhgnﬁnd P(-2) - P(=2) 5 P(x)=2x3 *22ex=1 1 5
Solve by formula: ~ (3£+2m )2~ (3¢ = 2m )2 (3€+2m )2 - (3¢ -2m )2 S sk (i)
Define similar surds. -E e Gi
Factorize: (212t + 36 12 -12t+36 EEE  (iv)
Factorize:  x2+5x-14 x2+5x 14 ENTET

Define cubic polynomial. -é_g s (vi)

228 e i)

6pqr 4! 15grs (viii)

Define H.C.F.

Find H.C.F. of 15grs , 6pgr

Find L.C.M. by factorization:  2ab _ 3ab , 4ca 2ab |, 3ab = r':E’”J‘,P'._JLJ'ud Faike  (ix)
o
Write short answers to any SIX parts, -é@“?/ﬂ/_‘ol? J{:.Jf

Solve:  3(2x-D=5(x-1) :® I -D=5(x~-1) . p (i)

What is meant by solution of linear equation? ?9:',#(_)';"_‘,)’5';.!:'.#;}’.;:.{ (ii)

Solve:  3(x=2)<2x+] \ 3c=D<;sl L
Solve by factorization: "%'(X +)=3 0& —:-(x =3 . ZSAs (v

_é.:b’f:.-hb*d'.m: (v)

Write the formula of quadratic equation.

Solve:  3x?-10x+8=0 0 I-10x+8=0 . L F (vi)
Define scalar matrix with exampl - gt Ly /‘U...JG'/‘:‘: (vii)
-1 3 4 -1 .
Find the matrix product: 2:} [_ 1 -2 ]{ 2 J :-,-:{_—[‘:L"‘.../J‘H(,JJJ (viii)
3 4 - 3 4 ;
£ A= @, bt en ] 7w
Wnte shor wers to any SIX parts, -"d'? @lef"tflk fg";.{jf
Define a reflex angle. ,g{qﬁﬂﬁ; (i)
Define major are, -5‘,1.‘4/""&/;{)'5 (i)
Define supplementary angle. c‘;{_—_éﬁ/’-ifd..;i.ﬂd/"-fjf (iii)

-eK45° ,,mdw(umv’r 5. ZEET Euns Vebadd  (iv)

Construct a triangle, when two sides are 7em and Scm and the included angle is 45°,
Define altitudes of a triangle. SN et )
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Find the volume of the cube whose each edge is 8m. A8 ':L:f:.,-b’uz.a-‘i:l‘:l"_(f(_gfd_i (vi)
Define the area.

Define collinear points.

Sl &L NG L C(=6,-T) 9 B(2,
Show that the points A(6,1) . B(2,7) and C(-6,-7) are vertices of‘arighnr[a@

-t 08 Ly o fepinl e tinfe

Find "3"'3‘3,whenxy=lﬂ.x+y=7. = +y=?.§:’_£r‘:i”_—.a_3pfxl+)'3 ()

Factorize: a‘+b*+a+b ® 9 a*+b*+a+b gguf Gisd

SImplE: '5?[;_ *i\’ a?ait - ;?]:,“ A7 (L)
I+ m

Y o

Solve and check: % X =

Solve by completing th thhod: 3x2+5x-4=0 ._é.fc..'g}dc CJ;/J.Z‘& (i)

Construct a squarw side is Scm. —ﬁ/‘ft.;:""S éj:‘if":’;_-li-ﬁ/u? (<)

-ér#w"’:mea;ﬁ[; :][';]{fg},ﬁuo

35
If ‘:Q[ g ={ m], then find the values of a and b.

Solve by using matrix inversion method: ~ 4X+3y =0 ; 2x+5y =1 ESe B e~ (&)

12U Se 16 B ANEL ol 56 6L e 225810 a0 8 L we ™ £ ()
A rectangular field is of length 40m and width 25m. Find the total cost of turfing the field if the
cost of turfing the field is Rs. 16 per m?2.

A(8,=2),BL1,-2),0(-2:2) wplabilirinds, (o)
What kind of a triangle has vertices? A(6,-2),B(1,-2),C(~-2,2)
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